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Equivalent Fractions Date

True or False - The fractions are equivalent.

1 5 2) 7 28
gandﬁ gand%
1 5 7 21
4) Z o= 5 L 2
4 and 8 5 and 15
nd 8 gy 1 2

§and2—7 7and7

4 20
3 and 15

2 6
7andﬁ

7 28
9 and )

Period



MathVine - Pre-Algebra Name

Equivalent Fractions Date Period

True or False - The fractions are equivalent.

1 5 2 7 28 g 4 20
gandﬁ gand% gand1—5

[ Answer: No J f Answer: Yes J [ Answer: Yes ]
1 5 7 21 2 6
4) — e S _ - 6) — —
4 and 8 5 and 15 7 and 21

[ Answer: No J ‘ Answer: Yes 1 [ Answer: Yes J
4 8 1 2 7 28
7)o — 8) Z 4= 9 __ ==
9 and o7 7 and 7 2 and 8

{ Answer: No J | Answer: No J [ Answer: Yes J
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Equivalent Fractions

Solution Steps

1 5!

6 and 192
First, write each fraction in
lowest terms

The greatest common 1

divisor of 1 and 6 is 1, so 6

is already in lowest terms
The greatest common

d5ivisor of 5and 12is 1, so
12 is already in lowest

tlerms 5

6 is not equal to 192

1 5
4) 4 and g

First, write each fraction in
lowest terms

The greatest common 1

divisor of 1 and 4 is 1, so 4

is already in lowest terms
The greatest common 5
divisor of 5 and 8 is 1, so 8
if already in Iowegt terms

4ls not equal to )

Date

Period

7 28
2) [ and 20
First, write each fraction in
lowest terms

The greatest common 7

divisor of 7 and 5 is 1, so 5
i58already in lowest terms
90 can be reduced, since 4

is a factor of both 28 and

4 4 7
207475
The fraction is now in

west terms
I? 28

[ is equal to 20

7 21
g and E
First, write each fraction in

lowest terms
The greatest common

5)

7
divisor of 7 and 5 is 1, so 5

if 1already in lowest terms
15 can be reduced, since 3
is a factor of both 21 and
¥os 7
157375
The fraction is now in

west terms
I? 21

[ is equal to 15

4 20
3 and 15
First, write each fraction in
lowest terms

The greatest common

3)

4
divisor of 4 and 3 is 1, so 3

ifoalready in lowest terms
15, can be reduced, since 5)

is a factor of both 20 and

¥ 5 a4
5753
The fraction is now in

lowest terms
£ 20

3 is equal to 15

2 6
- and 21
First, write each fraction in

lowest terms
The greatest common

6)

2
divisor of 2 and 7 is 1, so ”

i%already in lowest terms
97 can be reduced, since 3
is a fagtor qof both 6 and 21:
62 195" S

21737

The fraction is now in
lowest terms

5 6

7 is equal to 21



4 8
§ and 2—7
First, write each fraction in

lowest terms
The greatest common

7)

4
divisor of 4 and 9 is 1, so 9

is already in lowest terms
The greatest common

dé'visor of 8 and 27 is 1, so
27 is already in lowest

t
4erms 3
9 is not equal to 27

1 2
8) 7 and 7

First, write each fraction in
lowest terms

The greatest common 1

divisor of 1 and 7 is 1, so 7

is already in lowest terms
The greatest common 9
divisor of 2 and 7 is 1, so 7
if already in Ioweit terms

7 is not equal to 7

7 28

9) D) and )

First, write each fraction in
lowest terms
The greatest common

7
divisor of 7 and 2 is 1, so )
is_ already in lowest terms
g oAy
g can be reduced, since 4
is a factor of both 28 and &:
oL
BTI=2
The fraction is now in

t terms
|?wes 28

D) is equal to )



